EARAZROREIERT — 2 N—XBISY —F 2014598118 (K) 10@55#A1H

Ml SR3m®3#E 3 ¥5R3% (w8 | mEmml - |5 5) o 8
[A&4)]1#%:180,000H ~ 2#%&:36,00MH ~ 3#&:18,000H / 4%:0M / 5&%:0H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o ps . = EHKRE 129, 22— . — MEEER (1
17l 7| 27y 74— 43 S 1(2_9)7 2-2-2-2 | 38.5 1 :1+212) mE= A
LI hFr—Ib B:O—x1) > B s
4 3 | BEEHE 1:30.2 3-3-3-3 |38.7| — 3 400 |HTEFREE (S242)
EH 3| ¥R/ T8~ 56.0 @ 1/2) cy | 3 KL7A 5 K
A N—3IGA—L B:H¥IFavenY E
N KA =] : -1-1- - HEET (5HR)
3lglg| F—F—TU>tx i 3 e 1.(330).8 1-1-1-1 | 40.2 5 3225) i) A
L:T7v3i7—-L B:A-3IL 2 FLT PGictae]
i i 3 | ZBAEZ 1:31.1 4-4-5-5 |39.4| — 4 443 | UER (S542)
4 4| F70e—0— 56.0 A 1/2) (6) | TE— g
R:2yY—>b—0— B:FFUITZXF> TR
. B[IEe :31. —5-4— . — HEZE (51)
5 6l et Uy KTL— B3 3l 1 (311)3 6-5-4-4 | 39.8 2 :1+322) = %mtg
L:TSATLRE14 L B4 7))y KTLAL TEHHS
EE# .31 77— . = KAEHK (5H)
6 2| XA/ by TRE— 5 € 54.0 ! (321)7 TS| 3 6 f; kg B
R:TIRAFTEN B:TI5ALFT1—X EEREZ e ]
i 5 4t 3 | EEERR 1:34.4 5-6-6-7 |42.2| — 7 430 | HEZE (1)
7011 |P7¥YTaF— 54.0 (21%) (45) | SREAS )
R:TVYA IR B:EvIT4T75 MBS
. # 3 | SiEFt 1:34.5 8-8-8-8 | 41.1| — 8 440 | BREE (8H)
8|55 |FNATEYY 56.0 (172 G | #® 77—zhevas
R:T7H YTy BTITHCTAX ZAE= K77 —L
@ 1—F—@&BIEf
13=7r= 8,7,3,4,1,6,2,5
Aol=5r= 8,7,3,4,6,1,2,5
Jo=3r= 8,7,3,6,4,1,2,5
41—+ — 8,7,3,6,4,2,1,5
[ RN
B OB 7 140M 794K 3-7 130 B E 3-7 250M JEE 3-7-8 1,380
8 B 7 1009 7-8 350M B H 7-3 300 JEH 7-3-8 2,370
3 130M4 3-8 1,270
8 280

ABICOVWTRDTEEERROODE. TR LIV,




